Signals And Systems
HW#9
Solutions
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Multiply both sides by a and let 8 — oo. This yields
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Multiplying both sides by 8 and let 8 — oo, This yields
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Solving these two equations gsimultaneously vields ks = g3 = —1. Therefore
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Solving these three equations in &, A and B vields &k = 3, 4
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For the last fraction in parenthesis, A =1, B= =10, a=1,c=5b=vE-1{=2
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The above answers were obtained using the Laplace Transform method, taking into account initial conditions.
On the following page, I compute zero input and zero state responses separately. Zero input responses are
obtained using substitution of t=0 into the characteristic equation’s solution, while zero state solutions are
obtained using the Laplace transform method, but with all initial conditions set to 0.
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